Linear Algebra (II) Exercise (Week 13)
May 16, 2025
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(a) 3x2—|—2xy+2xz—|—4yzz4,
(b) 2¢% +2xy+ 202+ 2z —x+y+z=1.
(c) 3% +2xz—y2 +322 42y =0.
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(a) 3x> +2xy+2xz+4yz=4. WP p ¥ G 2 LfE e R wphen gl > 10 E - T
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(b) 2x% 4+ 2xy+2xz+2yz—x+y+z=1. 3P ¥ & 2 Ll o REFFLHE 11 E T 5
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(¢) 3x+2xz—y*+322+2y=0. TPt & G 2 L4 o K2 BB S4E > 12 E R
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3. B %K “Second Derivative Test” o

4. 27 _reR. ¥ g#3| ap,a1,az,... * B9 ap=0,a,=1 1%

ax =rag_1+ (1 —r)ay_o, for k > 2.
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(b) Bk O<|r—1| <1-°3#®P &7 ap,a1,az,... = neutrally stable (L 4p* 3 &
NeN ##® a,=ay, Ym>N, & limg_ea; 77 &) & £H 4T o

S B S R SR LA S S(an....an) =Y a. #AcM(R) £ Ty:R" R, %
&5 Tya(v)=Av. £ g€ £ 55 R" 4v R 1 standard ordered basis.

(a) 3F#M S % linear map £ B S %t £, hik B [S]
(b) ¥ & 3l SoTy (R - R. ##mP [SoTyle % i o

A

(c) Bk A eh= B entry % 5 25f F#ce FP A 5 stochastic matrix % ¥ r& &
So TA =S.

(d) B3 A 5 stochastic matrix ¥ B € M,(R) ¢ & entry % 5 224 F ¥k 1% &
b XSG EE (7 So(TyoTp) = (SoTy)oTp) M & Sl s £ BAEL % bl %
M B % stochastic matrix % ¥ *&3% AB % stochastic matrix.

(e) #H I ABeM(R) # ¢ A4r BA i stochastic matrix & €_B i 7 §_stochastic
matrix.



